
Que. Question / Answer (with Option) Correct Answer 

1 Brainstem consists of ? (D)  Both (B) and (C)

(A) Fore brain

(B) Pons

(C ) Medulla oblongata

(D) Both (B) and (C)

2 Which of the cranial nerve is known as auditory nerve ? (D)  CRANIAL NERVE VIII

(A) CRANIAL NERVE V

(B) CRANIAL NERVE VI

(C ) CRANIAL NERVE VII

(D) CRANIAL NERVE VIII

3 My Friend and benefactor ……………………… . (A)  has come

(A) has come

(B) have come

(C ) are coming

(D) are come

4 (x+3) (x-8) = ……………………… (C )  x
2
 - 5x - 24

(A) x
2
 + 11x - 24

(B) x
2
 - 8x + 24

(C ) x
2
 - 5x - 24

(D) x
2
 - 5x + 24

5 ���� �ા�ા �	�
ા ш�

� �ш�� ш�
 �х�� ������ (B)  ������
(A) �ા��
(B) ������
(C ) ����
(D) �������

6 Find the odd man out… (C )  Conduction through CSF

(A) Distributed BC

(B) Inertial BC

(C ) Conduction through CSF

(D) Osseotympanic BC
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Que. Question / Answer (with Option) Correct Answer 

7 Pink noise is having energy distributed uniformly at (A)  20 Hz - 20,000 Hz

(A) 20 Hz - 20,000 Hz

(B) 1000 Hz - 4,000 Hz

(C ) below 8,000 Hz

(D) all of the above

8 ���� ���
ા ш��к к�  ��ા ? (C )  кા�! ��"#$%�
�
(A) �&�ા#!
(B) �ા%к�
(C ) кા�! ��"#$%�
�
(D) '�"#�

9 He is sick ……………… illness. (A)  of

(A) of

(B) for

(C ) in

(D) with

10 x
2
 + 6x + 7 = 0 
� ( � !&)! *
ા&&ા ��'ા+ ,-+ .'��/-+ �#0 ? (B)  2

(A) 4

(B) 2

(C ) 3

(D) 1

11 Distinctive feature was proposed by ? (C )  Chomskey

(A) Van riper

(B) M N Hegde

(C ) Chomskey

(D) Both (A) and (C)

12 Children with language-based learning disabilities usually perform 

best on tasks involving 

(D)  Visual memory.

(A) Work retrieval.

(B) Nonsense syllable spelling.

(C ) Semantic knowledge.

(D) Visual memory.

13 ‘1-&ા� �/-+’ ш�

ા �234��)
� �ા�� 5�! �х�. (C )  �ા�'ા� �/-+
(A) 6-%�� �/-+
(B) �ા�'ા� �/-+
(C ) 'ા�ા'ા� �/-+
(D) 7���� �/-+

14 
���
ા'ા+�� к�� �&к8� Control Panel 'ા+ જ�&ા '	�� 
�� ? (D)  My Account

(A) Sound

(B) Mouse

(C ) Display

(D) My Account

15 Rina dances as if she ……………………. Madhuri Dixit. (B)  were

(A) was

(B) were

(C ) are

(D) have been
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16 Vital capacity of individual is (D)  a+b+c

(A) Tidal volume

(B) Inspiratory reserve volume

(C ) Expiratory reserve volume

(D) a+b+c

17 The mechanism of bone conduction hearing which includes 

contribution from middle ear is known as…

(B)  Inertial bone conduction

(A) Compressional bone conduction

(B) Inertial bone conduction

(C ) Distortional bone conduction

(D) Occlusion effect

18 1, 1, 2, 3, 5, 8, 13, 21, 34, …………….. �� к�ા 4кા�
� :� � ;� ? (D)  2<*�
ાк=
(A) �'ા+��
(B) 6- �>�
(C ) �&?'
(D) 2<*�
ાк=

19 ���� �&к8��'ા+�� �ા�� જ�# � ш���
� �х�. (C )  @A-�
���ાB��=
(A) @A-
����ાB��=
(B) @A-�
���ા��2�
(C ) @A-�
���ાB��=
(D) @A-�
���ા���=

20 6-જ�ા� �ાC�
ા DE�B)к �&кા�
� �ા�� кF ���>G-+ જ�х' &H- 
��F шк0 ;� ?

(C )   DE�B)к 5
� �ા�ા�B к 

���>
(A) I �%х�

(B) &ા
	 <ા�/-+
(C ) DE�B)к 5
� �ા�ા�B к ���>
(D) J&ા	ાK-х�G-+ <ા�/-+

21 Type of dysarthria resulting from which type of antipsychotic drugs (C )  tardive dyskinesia

(A) athetoid

(B) dystonia

(C ) tardive dyskinesia

(D) parkinson

22 Seizures are limited to one area of the brain. Consciousness is not 

lost, though the child may not be able to control body movements.

(C )  Generalized

(A) Simple partial

(B) Absence seizures

(C ) Generalized

(D) None of the above

23 A bunch of bananas was ……………… from the ceiling. (B)  hung

(A) hanged

(B) hung

(C ) hang

(D) hunged
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24 
���
ા'ા+�� кA-+ �&�ા
 *Lк &#0 5�ા�� M-�&�ાN 'ા�0 �ાO-+ 
�� ? (C )  �&
0ш� 
ા ા+
� <0�*
�� 
к�= шкા�� 
��.

(A) ��< 2#��P�� &�8�
� M-�&�ા ��� ;� .
(B) *Lк Qા�ા �)ા�, ��"ш
, R�ાજ, 2#�&#"# O �к&� шкા� ;� .
(C ) �&
0ш� 
ા ા+
� <0�*
�� к�= шкા�� 
��.
(D) ��S� *ા+���= �ા'� к0���к *ા*�� 'ા�0 ��
 ��� шк0 ;� .

25 ���� &ાT'ા+�� �ા
ા &ાT� U�ા �ા#�� �2��� *�'ા+ *�V� W�ા��� 
Xк 'ા � ��
� જ�Y �Z� ��� X��� �2��ા
� �A-+ к0 X 'ા � ��
� 
кા' ��ш�.

(A) �2��� *�'ા+ *�V�. Xк 'ા � ��
� જ�Y �Z� ���. �2��ા
� �A-+. X 

'ા � ��
� кા' ��ш�.
(B) �2��� *�'ા+ *����. Xк 'ા � ��
� જ�Y ��0��. �2��ા
� �A-+. X 

'ા � ��
� кા' ��ш�.
(C ) �2��� *�'ા+ *�V�. Xк 'ા � જ�F �Z� ���. �2��ા
� �A-+. X 

'ા � ��
� кા' ��ш�.
(D) �2��� *�'ા+ *�V�. Xк 'ા � ��
� જ�Y �Z� ���. �2��ા
� '
'ા+ 

�A-+. X 'ા � જ�� кા' ��ш�.
26 Bleeding in the middle ear from any cause is called… (C )  Hemo-tympanum

(A) Tympanic necrosis

(B) Otorrhoea

(C ) Hemo-tympanum

(D) Atelectasis

27 42 years old female is referred to you by ENT having diagnosed of 

large central perforation and ossicular chain fixation, for 

impendance testing, following will be your findings.

(B)  B type Tymp

(A) As type tymp

(B) B type Tymp

(C ) Ad type

(D) C type

28 [��
� \
�ા 'ા�&ા 'ા�0 кA-+ �ા�
 &ા��&ા'ા+ �&� ;� ? (B)  ��]���'��
(A) *����'��
(B) ��]���'��
(C ) ��'��'��
(D) )�8&�
��'��

29 He ………………….a silver bracelet yesterday. (D)  wrought

(A) buy

(B) stolen

(C ) Worn

(D) wrought

30 1 ^� *�ા*� к0��ા ��.'�. �ા� ? (B)  2.54 ��.'�.
(A) 2.20 ��.'�.
(B) 2.54 ��.'�.
(C ) 2.10 ��.'�.
(D) 2.75 ��.'�.

31 All of these are paired cartilages of larynx, except ? (A)  Thyroid

(A) Thyroid

(B) Cricoid

(C ) Arytenoid

(D) Corniculate

(A)  �2��� *�'ા+ *�V�. Xк 

'ા � ��
� જ�Y �Z� ���. 
�2��ા
� �A-+. X 'ા � ��
� 
кા' ��ш�.
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32 Radioear B-72 is a (B)  Bone vibrator

(A) Artificial mastoid

(B) Bone vibrator

(C ) Supraaural earphone

(D) Insert earphone

33 ‘��3ા
� '�х ���� જ&�’ ш�

ા �234��)
� �ા�� 5�! �х�. (B)  _
�'ા+ &�

ા �&�

(A) ��х+#
� х��� &ા)&�
(B) _
�'ા+ &�

ા �&�
(C ) ��3ા
� �ા� &ા)&�
(D) ��х+#
� &%` - ���� જ&�

34 ab��кшાc'ા+ :��V �+ш��
 к�&ા *
� *� &deા�
к�
� 
�*�� 

(-�%кા� X
ા�� к�&ા'ા+ �R�ા. � *f� &deા�
к� к�ા к�ા 
0ш
ા 
;� ?

(B)  g�ા
 - к0
�#ા

(A) 5'�2�кા - h%&WP�i"#
(B) g�ા
 - к0
�#ા
(C ) g�ા
 - ��ш�ા
(D) 5'�2�кા - к0
�#ા

35 It seems that you are in some tension. (Change the voice)

(A) It is seemed that some tension is in you.

(B) I can see that you are in some tension.

(C ) It should be seemed that you are in some tension.

(D) It is seemed that you are in some tension.

36 Following is the significant characteristic of Noice Induced Hearing 

Loss

(B)  4 kHz Notch

(A) 2 kHz Notch

(B) 4 kHz Notch

(C ) 6 k Hz

(D) All of the above

37 The most common cause of conductive hearing loss in young 

children is: 

(D)  Otitis media.

(A) Rubella.

(B) Impacted cerumen. 

(C ) Meningitis.

(D) Otitis media.

38 Xк к��#'ા+ к0��ા , �"� �&� ? (C )  7

(A) 5

(B) 6

(C ) 7

(D) 8

39 ���� �ા�ા �	�
ા ш�

� �ш�� ш�
 �х�� 'ા�0j-+ (C )  k
�G-+
(A) k
�
(B) 'ા �j-+
(C ) k
�G-+
(D) '	�j-+

(D )  It is seemed that you are 

in some tension.
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40 X�ш�ા
� �b�� '��� %&B l' M ��!���! ���ા� �ાк!  к�ા mજ8�ા'ા+ 
%�ા�&ા'ા+ �&�� ;� ?

(C )  �ા� 

(A) 
'!
ા
(B) )ા+��
)�
(C ) �ા� 
(D) '�0�ા ા

41 Absolute sound pressure of a signal having intensity of 0 dB SPL is… (A)  0.0002 dyne/cm2

(A) 0.0002 dyne/cm2

(B) 0.002 dyne/cm2

(C ) 0.02 dyne/cm2

(D) 0.00002 dyne/cm2

42 Contralateral suppression of OAEs is possible to ? (B)  Efferent fibers

(A) Afferent fibers

(B) Efferent fibers

(C ) Association fibers

(D) Outer hair cells

43 Worn brown was appreciated for his …………………behaviour. (A)  urbane

(A) urbane

(B) urban

(C ) urbun

(D) urbene

44 9% ��х� �. 4000 
ા *� &?!
ા �ા
ા R�ાજ 5
� �7/ nop R�ાજ
� 
�<ા&� �. ............................. �ા�.

(A)  32.4

(A) 32.4

(B) 392.4

(C ) 752.4

(D) 720

45 ���� &ાT 'ા�0 ���� �&к8��'ા+�� ��х
�23 5
� aા?ા
� 
q$��X ,-p &ાT �х�� �� ા 5Kn� ��&ા
� 5'ા�0 
�W�/
��' ;� .

(B)  �� ાK n� ��&ા
� 5'ા�� 
�
W�-�
�' ;� .

(A) �� ાK n� ��&ા
� 'ા�0 �
�' ;� .
(B) �� ાK n� ��&ા
� 5'ા�� �
W�-�
�' ;� .
(C ) �� ાK n� ��&ા
� 'ા�0 �
W�-
��' ;� .
(D) �� ાK n� ��&ા
� 5'ા�� �
�' �
W�
� ;� .

46 Roll over index (RI) is (A)  PB max-PB min/PB max

(A) PB max-PB min/PB max

(B) PB min-PB min/PB max

(C ) PB max/PB min-PB min

(D) All of the above

47 Depending on the (IQ), Mental retardation can be categorized into (C )  5 groups

(A) 3 groups

(B) 4 groups

(C ) 5 groups

(D) 6 groups
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Que. Question / Answer (with Option) Correct Answer 

48 �ા'ા"� �=�� �'
�N'ા+ к0/ -+ ���� &�0 ?

(A) O2 5
� ��?кqR�K-]�
(B) CO2 5
� ��?кqR�A-]�
(C ) ��?кqR� 5
� O2 �&�=

(D) ��?к qR��A-]� 5
� O2 A-]�

49 Use appropriate verb form: Rohan ……………… a dream last night. (B)  saw

(A) has seen

(B) saw

(C ) was seeing

(D) had sawed

50 
	ાкા�G-+ \
<	 ш��&ાG-+ M �r �х�. (B)  πr
2
h

(A) πr
2

(B) πr
2
h

(C ) 2πrh

(D) 2πr

51 Inconsistent spacing between words and letters is seen in (A)  Dysgraphia

(A) Dysgraphia

(B) Dyscalculia

(C ) Dsyrhythmia

(D) Dyslexia

52 Confusion in similar sounds and words is a characteristic symptom 

of ?

(C )  LD

(A) MR

(B) Autism

(C ) LD

(D) ADHD

53 ‘�ાs '�/-+’ ш�

ા �234��)
� �ા�� 5�! �х�. (A)  ш�'ા/-+
(A) ш�'ા/-+
(B) �ાજ �&&�
(C ) �ાજ જ&�
(D) �tgх��

54 &ા�
� 'ા�0 જ��= “��.A-.��.” ��u<=к0�G-+ �1-+ 
ા' ,-+ ;� ? (B)  ��8A-ш
 5"#� к"v��
(A) ��8A-��! A-P кા�
(B) ��8A-ш
 5"#� к"v��
(C ) ���8� 5"#� )� ��"જ
(D) �'ા+�� Xк�  
�w

55 Mohan …………………… (to play) cricket everyday. (B)  plays

(A) has played

(B) plays

(C ) is playing

(D) had played

56 Missing 6 dB is seen when (B)  Measurement done using 

speakers and headphones

(A) Measurement is done using Bone vibrator

(B) Measurement done using speakers and headphones

(C ) Measurement done using Insert phones

(D) None of the above

(D)  ��?к qR��A-]� 5
� O2 

A-]�

Final Ans Key Page  7 of 24 Dt.  29-04-2016



Que. Question / Answer (with Option) Correct Answer 

57 Pragmatics is most prominently affected in (B)  Mental retardation

(A) Cerebral palsy

(B) Mental retardation

(C ) Autism

(D) ADHD

58
Xк �+x�ા'ા+ 12 .'��= 13 &#0 aા)�X 5�&ા ��જ �+x�ા'ા+�� 12 

*ા
 к�= 7 &#0 aા)�X, �� જ&ા* ��хા �&� ;� . �� �+x�ા ш���.

(D)  40

(A) 12

(B) 36

(C ) 14

(D) 40

59 ‘aL� aા)�	�  
� ;ાш ;ા)�	� ’ к�0&�
� �ા�� 5�! �х�. (C )  к��	 к8�
ા'ા+ �ા�/-+.

(A) \�'ા+ �&ા�0 ;ાш &��&&�.
(B) \@'�&��y-+ к�= aL�
� aા)�	�  '�к�&�.
(C ) к��	 к8�
ા'ા+ �ા�/-+.
(D) aL� х���0 g� W�ા�0 ;ાш ;ા)� &�.

60 х��)ા' �ાj-кા
� �'ા&�ш к�ા s8�ા'ા+ к�&ા'ા+ �R�� ;� ? (A)  
&�ા�=
(A) 
&�ા�=
(B) '�=�ા)�
(C ) �ા��
(D) 
0&I ��' Qા�кા

61 What do efficacy studies indicate is an effective treatment for 

preschool children who stutter ?

(A)  Parental verbal 

contingencies for fluent and 

stuttered speech.

(A) Parental verbal contingencies for fluent and stuttered speech.

(B) Stuttering modification for desensitization and speech control.

(C ) Cognitive behaviour therapy for reduction of apprehension and 

avoidance.

(D) Parent training to implement good talking and listening rules.

62 Transient Evoked Otoacoustic emmissions are absent in following (D)  all of the above

(A) moderate mixed hearing loss

(B) mild sensorineural hearing loss

(C ) mild conductive hearing loss

(D) all of the above

63 Give opposite gender for: 'Monk' (A)  Nun

(A) Nun

(B) Priest

(C ) Friar

(D) Monky

64 Xк кા�
ા �d#ા
� �rC�ા 21 ��.'�. ;� . જ� �� 1 �'�
�'ા+ 500 

�2�z'  к�0 �� ��
� P#� 2к'�/к�ાк'ા+ ш���.
(D)  396.00 2к'�/к�ાк

(A) 39.6 2к'�/к�ાк
(B) 39600 2к'�/к�ાк
(C ) 3.96 2к'�/к�ાк
(D) 396.00 2к'�/к�ાк
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65 ��хк )b�=ш+к� )�&�!
�ા' જ�?� к�ા .�
ા'�� ��х
кા�! к��ા 
��ા ?

(D)  H �'к0` -

(A) %
���h{'
(B) .ш
M|
(C ) \
{�ા'
(D) H �'к0` -

66 For Autism what type of therapy is useful (D)  both (A) and (B)

(A) Music therapy

(B) Sensory integration

(C ) Vocational training

(D) both (A) and (B)

67 Smoke + fog = Smog is an example for which process of word 

formation 

(C )  Blending

(A) Compounding

(B) Borrowing

(C ) Blending

(D) Conversion

68 7ા��}�
к X~"જ

� .���) шા'ા+ �ા� ;� ? (B)  ��к0�
(A) �&'ા

(B) ��к0�
(C ) �*'2�

(D) �0�=જ�0��

69 He is …………………..union leader. (A)  a

(A) a

(B) an

(C ) the

(D) article not required

70 10% ��х� �. 1000 
ા *� &?!
ા �ા
ા 5
� �7/ nop R�ાજ &���
� 
�<ા&� �. ........................ �ા�.

(D)  �. 10

(A) �. 25

(B) �. 20

(C ) �. 210

(D) �. 10

71 Prior to selection of a augmentative communication system, fine 

motor control is carefully assessed to determine: 

(A) the minimum physical size of a target vocabulary item.

(B) the type of vocabulary used (i.e. pictures versus letters).

(C ) the method of vocabulary manipulation (sentence versus one-

word responses).

(D) method of output (voice or printed or visual display).

72 Spondee refers to

(A) 2 syllable word having equal stress on both

(B) 2 syllable word having more stress on 1st than 2nd

(C ) 2 syllable word having less stress on 1st than 2nd

(D) None of the above

(A)  the minimum physical size 

of a target vocabulary item.

(A)  2 syllable word having 

equal stress on both
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73 �
� 5
� )�*�N�� ��к�4� *
��ા+ к�&:� 
�ા�ા' Tા+
ા &�
� 
��ા ?

(A)  �ા �


(A) �ા �

(B) '�&ા#
(C ) &#�
�ા
(D) �ાજк��

74 5'
ા&ા
 ш�0� aા��G-+ 'ા+��%�� к�0&ા` -. � ш�0�'ા+ �b 4�' 

кા�#
� �'� к�
ા Qા�ા ш� к�&ા'ા+ �&� ?
(A)  � ;�#�ા� шા�

(A) � ;�#�ા� шા�
(B) ш�V :� к%` -�aાY �ા�aાY
(C ) 
�����aાY ш�V
(D) ш�V :� 'ા �к�ા� �2��ા�

75 I have sympathy …………………..him. (C )  for

(A) to

(B) at

(C ) for

(D) with

76 Melodic intonation therapy (MIT) is usually used for : (C )  Brocas aphasia

(A) conduction aphasia

(B) global aphasia

(C ) Brocas aphasia

(D) transcortical sensory aphasia

77 Which test is performed by the audiologist to know the benefits of 

BAHA before surgery ?

(A)  Head band

(A) Head band

(B) Wrist band

(C ) Neck band

(D) None of the above

78 �. 500 �#�� 2к�'� ��ા&�� Xк &%` - �� 20% 
<� '�	&&ા ��
� 
&��ા  2к�'� �. ....................... ��&� જ�FX.

(C )  600

(A) 100

(B) 400

(C ) 600

(D) 50

79 “s&�ા' a�” �� ા+ 6-જ�ા�� �ા2�W�G-+ B��+s&�ાr ;� . � 

�ાrG-+ ��
 к�
ા� ��хк к�  ;� ?
(B)  
����ા'

(A) "�ા
ા�ા�
(B) 
����ા'
(C ) кાкા кા���к�
(D) Xк�  �ાO-+ 
��

80 
�к�шા�= 'ા�0 &��ા�� ш�
 �A-��70�� (Bureaucracy)  ш�
 кY 

aા?ા'ા+�� �R�� ;� ?
(B)  �0"�

(A) к��=�

(B) �0"�
(C ) %&�#=ш
(D) ����
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81 Adductor spasmodic dysphonia results due to difficulty with ? (C )  Both

(A) Adduction

(B) Abduction

(C ) Both

(D) Any of the above

82 The extrinsic muscles of larynx are supplied by which nerve ? (B)  Vagus

(A) Hypoglossal

(B) Vagus

(C ) Accessory nerve

(D) Facial nerve

83 "Vote and …………………….for me" was written on the banner. (A)  canvass

(A) canvass

(B) cannvas

(C ) canvaas

(D) canves

84 &`-!	 ���х'ા+ 
�0к 'ા2��� 'ા�0 *� �rC�ા 
��&ા'ા+ �&� к0 }�� 
*
�ા 1 � ાG-+ 'ા� ����� 'ા2���
ા+ kш 'ા� }�j-+ ���. જ� �ા+� 

'ા2��� ��� ��� �� к0��� �rC�ા 
��&� �#0 ?

(B)  �ા+�

(A) *�
(B) �ા+�
(C ) 
�
(D) 
&

85 “'ા a�” ��=к0 4��op �ા'��ા к�& к�ા ;� ? (B)  4�'ા
+

(A) 
�ા�ા'
(B) 4�'ા
+

(C ) 
����� '�0�ા
(D) 
����ા'

86 Which one of the following is Pneumatically powered voice 

prosthesis ?

(C )  Tokyo artificial larynx

(A) Cooper-rand

(B) Western electric

(C ) Tokyo artificial larynx

(D) None of the above

87 TEOAE’s can be false positive when mode used is (A)  Linear

(A) Linear

(B) Non-Linear

(C ) both

(D) none

88 ,-7���#G-+ �ા�'ા
 �ા'ા"� �=�� к0�j-+ ��� ;� ? (D)  34 �� 35
0
C

(A) 28 �� 30
0
C

(B) 30 �� 32
0
C

(C ) 32 �� 35
0
C

(D) 34 �� 35
0
C

89 He is blind. He can see with ………………..of his eyes. (B)  neither

(A) either

(B) neither

(C ) both

(D) one
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90 (-51)
O
 = 1 �� (51)

O
 = ………………… (0=\ા�ા+к) (C )   1

(A) 51

(B) 0

(C ) 1

(D) Xк�  �ાO-+ 
��
91 SRT can go poorer than PTA in (D)  All of the above

(A) Elderly individuals

(B) Individuals having Central Auditory Nervous System disorder

(C ) Auditory Neuropathy

(D) All of the above

92 The accuracy of a hearing screening test in correctly identifying 

those individuals who actually have a hearing disorder is reffered 

to as the screening test’s

(C )  Sensitivity

(A) Validity

(B) Reliability

(C ) Sensitivity

(D) Specificity

93 “(-�� ��&ાA-� 
��” 5
� “�2�
� 'ા�)” �W�к�ાN �х
ા� ��хк 

к�  ;� ?
(C )  6-�ા*
ા� ��к�

(A) "�ા
ા�ા�
(B) 4�'ા
+

(C ) 6-�ા*
ા� ��к�
(D) �ા}"q шા�

94 7 '� X�4� 
� �&�a�'ા+ к�ા 2
&� ��=к0 N	х&ા'ા+ �&� ;� ? (C )  &8#! �08� #0

(A) &8#! �08к�' #0
(B) &8#! '��0����sк� #0
(C ) &8#! �08� #0
(D) &8#! X
�%�����ા #0

95 His father went abroad with a view ……………….more money. (B)  to earning

(A) to earn

(B) to earning

(C ) to earned

(D) earn much

96 Which is the most significant speech characteristic of CLP 

population ?

(B)  Hypernasality

(A) Misarticulation

(B) Hypernasality

(C ) Language disorder

(D) Fluency disorder

97 Addition of shwa vowel in between words is known as ? (C )  Ehpenthesis

(A) Metathisis

(B) Reduplication

(C ) Ehpenthesis

(D) Progressive assimilation

98 Xк &��ા�=X �. 4000 
� 'ા� х�=E�. 5#�� 'ા� 10% 
<ા�� 
&����. *ાк=
� 'ા� к0��ા+ �кા 
<ા�� &��&� જ�FX к0 }�� ��&ા	�  
25% 
<� �ા� ?

(C )  40

(A) 20

(B) 30

(C ) 40

(D) 45
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99 ‘��’ ш�
 'ા�0 �&к8��'ા+�� �'ા
ા�� ш�
 ш���. (B)  кા+V�
(A) ` ��
(B) кા+V�
(C ) �ાy-+
(D) P�

100 “2
к�= ��જ
ા”
� �0̀ - 
���
ા'ા+�� к�� 
�� ? (D)  �)aા!
� જ"'��ા 
&g� 

ш�,-
� ��?  ��&ા
(A) �-�-+* �
��જ

� &�) ��&ા
(B) �-�-+*'ા+ 2
к�� 
 ��� �� <]� 2
к�= ��� ��&� 
+���
� '

�� �&ા

(C ) 2
к�= જ"'
� '�W& ��/-+
(D) �)aા!
� જ"'��ા 
&g� ш�,-
� ��?  ��&ા

101 High frequency Audiometry has been most useful in this condition (C )  NIHL

(A) Otosclerosis

(B) NOHL

(C ) NIHL

(D) Ototoxicity

102 Earliest instrument used to measure TM mobility objectively was (C )  Impedence meter

(A) Immittance meter

(B) Compliance meter

(C ) Impedence meter

(D) Vibrant meter

103 ……………..of my friends - Sachin or Saurav is good at cricket. (B)  Neither

(A) All

(B) Neither

(C ) Both

(D) Some

104 �-� 6-  700 'ા+�� Xк �&Eા�� ��=�ા'ા+ 82% 6-  '�	&� ;� , �� 
�� � к0��ા 6-  '�	R�ા ?

(A)  574

(A) 574

(B) 564

(C ) 554

(D) 782

105 
���
ા'ા+�� �ા�� જ�# �&ા	� ш�
 ш���. (A)  �`-I-!જ
(A) �`-I-!જ
(B) �` �I �!જ
(C ) �`-I �!જ
(D) �`-!I-જ

106 In DPOAE the robust OAE occur at (A)  2f1-f2

(A) 2f1-f2

(B) 2f2-f1

(C ) 3f1-2f2

(D) none of the above

107 Pure tone consists of… (D)  None of the above

(A) Low frequency noise

(B) High frequency noise

(C ) Mid frequency noise

(D) None of the above
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108 �&�ા'�
 ‘A’ 
� . ��� к�� ��) �ા� ;� ? (C )  ��ા+�	ા�y-+
(A) *��=*��=
(B) %к&�
(C ) ��ા+�	ા�y-+
(D) 2�'�<=���ા

109 Give plural form of: 'ratio' (A)  ratios

(A) ratios

(B) ratioes

(C ) raties

(D) rateos

110 �. 1460 G-+ 8% ��х� 100 2
&�G-+ �ા[-  R�ાજ �. ...................... �ા�. (A)  32

(A) 32

(B) 40

(C ) 492

(D) 1500

111 What is the biggest complaint in elderly with SN loss ?

(A) Cannot hear any sound

(B) Cannot understand speech

(C ) Cannot hear distant sound

(D) Cannot hear nearby sound

112 People should wear Ear protection device if sound is more than (A)  85 dB

(A) 85 dB

(B) 90 dB

(C ) 85 dB HL

(D) 85 dB SPL

113 
���
ા'ા+�� �ા�� જ�# �&ા	� ш�
 ш���. (C )  &�0&ા2��ા
(A) &�0�&ા2��ા
(B) &�0�&ા�=�ા
(C ) &�0&ા2��ા
(D) &�0&ા�=�ા

114 �ા�v=� 'ા
& 5��кા� ���)
ા 5���
� кા�!кા	 

...................... ��� ;� .
(A) ; &?! 5�&ા 65 &?!
� �'� M-��
(B) �ા� &?! 5�&ા 58 &?!
� �'� M-��
(C ) �ા+� &?! 5�&ા 70 &?!
� �'� M-�� (�'ા+�� } ��0�ા+ ��� ��)

(D) �'ા+�� Xк�  
�w
115 I agree …………………..your proposal. (A)  to

(A) to

(B) with

(C ) by

(D) from

116 The maximum amount of air that can be expelled out forcefully 

after a maximum inspiration is called as ?

(A)  Tidal volume

(A) Tidal volume

(B) Residual volume

(C ) Vital capacity

(D) Total lung capacity

(B)  Cannot understand speech

(C )  �ા+� &?! 5�&ા 70 &?!
� 
�'� M-�� (�'ા+�� } ��0�ા+ 
��� ��)
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117 The soft palate is known as (D)  Musculus uvulae

(A) Velum

(B) Levator palati

(C ) Tensor palati

(D) Musculus uvulae

118 Xк �к'G-+ *� &?!G-+ �ા[-  R�ાજ �. 400 5
� �7/ nop R�ાજ �. 410 

�`-+ ���, �� R�ાજ
� 
� .............. ���.

(D)  5%

(A) 4.6%

(B) 7%

(C ) 10%

(D) 5%

119 �'ા� N	х&�� 
���જ (B)  5R���aા& �'ા�
(A) к'!�ા�� �'ા�
(B) 5R���aા& �'ા�
(C ) .��
 �W(-�-? �'ા�
(D) '��'�
���� �'ા�

120 Start *�
 к�ા *ા� .�� �&�j-+ ��� ;� ? (C )  �ા%к*ા�
(A) %�0��*ા�
(B) �ાY��*ા�
(C ) �ા%к*ા�
(D) '�G �*ા�

121 Stacked ABR is used for detecting (B)  Small tumors

(A) Childhood hearing loss

(B) Small tumors

(C ) Functional Hearing Loss

(D) Hearing loss in Cerebral Palsy

122 Following are degenerative disease (A)  dementia

(A) dementia

(B) aphasia

(C ) dysarthria

(D) All of the above

123 Make negative: Ram has five marbles. Shyam has two marbles.

(A) Shyam has not so many marbles as Ram has.

(B) Ram has not so many marbles as Shayam has.

(C ) Ram has more number of marbles than Shyam.

(D) Shyam did not have so many marbles as Ram.

124 4bx
2
 + 12bx + 9b = ………………… (A)   b(2x+3)

2

(A) b(2x+3)
2

(B) (2bx+3b)
2

(C ) bx(2x+3) (2x+1)

(D) Xк�  �ાO-+ 
��
125 ‘�b2кк0 જ/-+’ 
� ���� �&к8� ��+
 к�= �234��)
� 5�! ���. (B)  х�х�� к�&�

(A) �ા#�� .;��/-+
(B) х�х�� к�&�
(C ) *�ા�)ા' જ/-+
(D) a�#� ��&�

(A)  Shyam has not so many 

marbles as Ram has.
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126 Which of the following phoneme is acquired at the age of 6-7 years 

?

(A)    /r/

(A) /r/

(B) /p/

(C ) /t/

(D) /k/

127 How many points are there in intelligibility rating scale ? (B)   6

(A) 5

(B) 6

(C ) 7

(D) 9

128 �хG-+ кA- k) (\�к) ��"�
� 'ા<к кા�! к�0 ;� ? (B)   
�r' �
(A) к�
��ા
(B) 
�r' �
(C ) 
�r���
(D) к
��
кા

129 Find correct spelling. (B)  bouquet

(A) buckey

(B) bouquet

(C ) booket

(D) booquet

130 ���+� ��0�� ��'
� 400 �0]�� જ'�
'ા+�� 100 �0]��'ા+ &2��ા	= 
&ા&� ;� . �� � 'ા2��� 
шા!&&ા &`-!	 ���х'ા+ к0��ા kш 'ા�
� 
1 � � 
��&� જ�YX ?

(C )   90
o

(A) 60
o

(B) 30
o

(C ) 90
o

(D) 120
o

131 Holding therapy is used to treat which disorder ? (C )   AUTISM

(A) MR

(B) LD

(C ) AUTISM

(D) CP

132 Masking Dilemma can be avoided by using (A)  Insert earphones

(A) Insert earphones

(B) Supraaural headphones

(C ) Circumaural headphones

(D) Bone vibration

133 ш�
�K �� 'ા�0 Xк ш�
 ���� ��= ��=
� �#�ા+ &��ા
G-+ Pા��-+ (C )  ��&�-+

(A) K �ш	�ા�
(B) �ા+*��ા�ા�
(C ) ��&�-+
(D) ��к��к �#/-+

134 �ા}��'ા+ 5'�2�кા хા�� ��g��� '�� A-�
&�!-2015 %��ા!'ા+ 
k��' �2� ા' �'�� ш��O �к�� к�ા 
0ш
� %��!к '2��ા
� ‘'�� 

A-�
&�!’
� �ાજ ��0�ા&� 
0&ા'ા+ �R�� ��� ?

(D)   �'ા+�� Xк�  
�w

(A) '�� 5'�2�кા
(B) '�� 2<���ાY"�
(C ) '�� h%&WP�i"#
(D) �'ા+�� Xк�  
�w

135 Use appropriate verb form: The sun …………………… in the west. (D)  does not rise
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(A) sats

(B) rises

(C ) does not set

(D) does not rise

136 Eustachian tube opens at… (B)  Pharyngeal end

(A) Middle ear end

(B) Pharyngeal end

(C ) Isthmus

(D) None of the above

137 What is the other name of ABLB test ? (B)   Fowler’s test

(A) Chi-square test

(B) Fowler’s test

(C ) STAT

(D) Lusche-Zwislocki’s test

138 :� � ( � ! к��� 46656, 1296, 36, .................. (C )  1

(A) 1332

(B) -36

(C ) 1

(D) (-1)

139 ‘кા

’ ш�

� �'ા
ા�� ш�
 �х�. (A)   &

(A) &

(B) ��'�+
(C ) кાજ	
(D) к'!

140 73'ા *+�ા�  M-�ા�ાG-+ '�W& ,-+ ;� ? (D)   ���� �'ા'
(A) '2��ાN 'ા�0 5
ા'� *�Vк�
(B) aા��
ા �'&ા��+r'ા+ �+�ા���
� *+�ા� �� %�ા

(C ) �ા' �aા
� шા�
G-+ Xк' *
ા&ાY
(D) ���� �'ા'

141 oxygen to the body that arises from abnormal breathing is known 

as ?

(A)   Hypoxia

(A) Hypoxia

(B) Anoxia

(C ) Asohyxia

(D) Cyanosis

142 What is name of VII cranial nerve ? (C )   Facial

(A) Vagus

(B) Trigeminal

(C ) Facial

(D) Vestibulocochler

143 Give/ Select single word for the following phrase: "That which 

cannot be conquered"

(B)  Invincible

(A) Inviolable

(B) Invincible

(C ) Indelible

(D) Ineffable
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144 1 �� 200 M-��'ા+ �&�� ( � ! \
 �+x�ાN
� ��ા��= .................. (C )  45

(A) 37.5

(B) 35

(C ) 45

(D) 25

145 ш�
�K �� 'ા�0 Xк ш�
 ���� 2���к ��#<�#�� a� <0�ા&� K �к
ા� (C )   ��+к&ા
=

(A) 52���к
(B) 2���к
(C ) ��+к&ા
=
(D) 6-
�)ા�

146 Tinnitus retraining therapy is based on (C )   Jasterboff’s model

(A) Jerger model

(B) Carhart model

(C ) Jasterboff’s model

(D) All of the above

147 s/z ratio is useful indicator in (A)   laryngeal pathology

(A) laryngeal pathology

(B) functional dysphonia

(C ) stuttering

(D) misarticulation

148 'ા
&'ા+ �-� к0��ા �+)M �r� ��� ;� ? (C )   46

(A) 22

(B) 23

(C ) 46

(D) 50

149 Give the Noun form of: To weave (C )    a and b

(A) woof

(B) web

(C ) a and b

(D) weafe

150 13xy
2
- 26x

2
 = ………………… (B)  13x(y

2
-2x)

(A) 2x(13y
2
-2x)

(B) 13x(y
2
-2x)

(C ) 13xy
2
(1-2x)

(D) 13(xy
2
-2)

151 VPI due to structural deficit of velopharyngeal mechanism is 

known as ?

(D)  All of the above

(A) Velopharyngeal incompetency

(B) Velopharyngeal insufficiency

(C ) Velopharyngeal inefficiency

(D) All of the above

152 The three dimensional representation of a speech sound is 

obtained by ?

(B)  Spectrogram

(A) EGG

(B) Spectrogram

(C ) Stroboscope

(D) Dr. Speech
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153 ‘
'!
ા �� *� 
'!
ા જ ;� ’ - � &ાT'ા+ ‘��’ 
� N	х ���. (C )  �
�ા�

(A) �&!
ા'
(B) �n
+�
(C ) �
�ા�
(D) 
ા'

154 }��-����
� �'ા�� к�ા %�	�  �&��� ;� ? (B)  kg�
(A) �ા��
(B) kg�
(C ) �
=(-�
(D) �х��

155 Will you mind ………………. Sitting there ? (B)  my

(A) I

(B) me

(C ) my

(D) mine

156 Weber test done in individual having fluid in right ear and normal 

hearing ear in left will result in

(C )   sound to right ear

(A) sound to centre

(B) sound to left ear

(C ) sound to right ear

(D) non conclusive

157 Find the odd man out… (D)   Pitch

(A) Frequency

(B) Duration

(C ) Intensity

(D) Pitch

158 *� kк�
� Xк �+x�ા
� Xк'
� kк 
шк
ા kк к��ા r  ) � 
;� . kк�
ા %�ા
 5
�*
� к��ા '	�� �+x�ા 5
� K �	 �+x�ા 
&���
� �<ા&� 54 ;� . �� K �	 �+x�ા ш���.

(B)  39

(A) 26

(B) 39

(C ) 13

(D) 62

159 ���ા
ા+ ���ાG-+ 5��ા�( � ! �2�r “к�&�� 
����ા'”
� ��
ા 
к�ા ��хк0 к�= ?

(A)  "�ા
ા�ા� к�&

(A) "�ા
ા�ા� к�&
(B) 
�ા�ા'
(C ) જ�+� �ાVк
(D) Xк�  �ાO-+ 
��

160 �ાજк�� mજ8�ા
� к�ા s8�ાN
� �
 %�шi ;� ?

(A) M-�0"q
)�, 5'�0��, aા&
)�, ���*+
�, *��ા

(B) 5'�0��, 
0&I ��' Qા�кા, M-�0"q
)�, g'
)�, '��*�
(C ) *��ા
, '��*�, g'
)�, ��
ા)3, )����'
ા�
(D) '��*�, M-�0"q
)�, *��ા
, 5'�0��, g'
)�

161 A child of 2 year diagnosed having bilateral absent nerve on 

CT/MRI is ideal candidate to undergo

(D)  None of the above

(A) Cochlear implant

(B) BAHA surgery

(C ) CROSS aid

(D) None of the above

(D)  '��*�, M-�0"q
)�, *��ા
, 

5'�0��, g'
)�
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162 Which one of these is not included in team management of 

language disorders ?

(D)  Respiratory therapist

(A) Speech pathologist

(B) Audiologist

(C ) Pediatrician

(D) Respiratory therapist

163 Eknath said to the woman, "How can I convince your son, not to 

eat jaggery, when myself is also fond of eating jeggery?" (Turn into 

Indirect Speech)

(A) Eknath asked the woman how he can convince her son not to eat 

jaggery when he himself is also fond of jaggery.

(B) Eknath asked the woman how he would convince her son not to 

eat jaggery when he himself is also fond of jaggery.

(C ) Eknath asked the woman how can he convince her son not to eat 

jaggery when he himself is also fond of jaggery.

(D) Eknath asked the woman how he could convince her son not to eat 

jaggery when he himself was also fond of jaggery.

164 3 (-�-?� 5�&ા 4 c�N 2
&�
ા �. 600 к'ા� ;� , �� 4 (-�-?� 5
� 8 

c�N
� �-� к0��� к'ા � �ા� ?

(A)  �. 2000

(A) �. 2000

(B) �. 1400

(C ) �. 2800

(D) �. 1000

165 к�&:� P&���+
 '�\ા �
� જ"' к�ા )ા'� ��� ��� ? (C )  ���=�ા
(A) Y#�
(B) *ા' ા
(C ) ���=�ા
(D) *
ા�кા+Vા

166 Mineres disease is caused by

(A) dysfunciton endolymphatic sac

(B) dysfunction of auditory nerve

(C ) dysfunction of middle ear

(D) All of the above

167 WIPI test is Word intelligibility by picture Indentification can be 

used for

(C )   Young children

(A) New borns

(B) Mentally retarded

(C ) Young children

(D) All of the above

168 .��к�ા
� &
%���'ા+ K �	�� � ! M-�� �ા � ����ા#&ા 'ા�0 кA-+ 

*ા  ( ��` -+ 
�� ?

(B)   K �	
ા*

(A) �Mn��
ા*
(B) K �	
ા*
(C ) 5Ba��

ા*
(D) �+��
 *	

169 Give synonym: 'Demise' (C )   Death

(A) Sadness

(B) Birth

(C ) Death

(D) Sorrow

(D)  Eknath asked the woman 

how he could convince her son 

not to eat jaggery when he 

himself was also fond of 

jaggery.

(A)  dysfunciton endolymphatic 

sac
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170 6x3y3- 3x2y = ………………… (D)   Xк�  �ાO-+ 
��
(A) 2xy(3xy2yz-1)

(B) 3xyz(2xyz-1)

(C ) 3x2y(2xyz-1)

(D) Xк�  �ાO-+ 
��
171 Type ‘V’ Bekesy audiogram is seen… (D)   None of the above

(A) Normals

(B) Cochlear pathology

(C ) Retrocochlear pathology

(D) None of the above

172 Find the odd man out…

(A) Functional hearing loss

(B) Pseudohypacusis

(C ) Malingering

(D) Drug induced hearing loss

173 “�ા���” �	�
� ш�
 ;� . }
� 5�! ш���. (A)   ����
(A) ����
(B) 
� �
(C ) ����ા�
(D) 
Vા�-+

174 �ા}��'ા+ N%v0B��ા'ા+ �'ા��� N�
 �&'�"� #*8�
� �0�
� 

%��ા!'ા+ aા��
� �ા�
�ા �'Pા! 5
� h%&WP�i"#
� 'ા2��
ા 
2��)��
� જ�#=X �ા&ાк�&ા-�ા#0кા
� જ�#=
� ��ાજ� ����. 
��ાmજ� � �'�&��� к�ા 
0ш
� ��� ?

(B)   ��к 2�����к

(A) 7�2�� 2�����к
(B) ��к 2�����к
(C ) к�%�ા2�кા 2�����к
(D) �FP�к 2�����к

175 Give opposite gender for: 'Earl' (A)  Countess

(A) Countess

(B) Early

(C ) Shabi

(D) Emperor

176 The complete adduction due to negative pressure between two 

vocal folds is governed by ?

(B)  Bernauli’s theorem

(A) Pascal law

(B) Bernauli’s theorem

(C ) Dopler’s effect

(D) Extent of fluctuation in intensity

177 Puberphonia is also known as ? (B)   Mutational falsetto

(A) Hypernasality

(B) Mutational falsetto

(C ) Cul de sac nasality

(D) Assimilative nasality

178 0 ……………….. {x/x X 5 
� 5&�&} (D)   ∉
(A) ⊂
(B) ∈
(C ) ⊄
(D) ∉

(D)   Drug induced hearing loss
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179 6-જ�ા� �ા2�W��aા Qા�ા F.�. 1928
ા &?!�� 5�!  ��� ��0�� 
� mજ��ા' M-& !�+qк �b 4�' к�
� 4ા�� ��� ��� ?

(B)   P&���+
 '�\ા �

(A) к�&:� *��ા
к�
(B) P&���+
 '�\ા �
(C ) 4��ા
 �ા�0х
(D) 5�
� જ�?�

180 6-જ�� �ાC�
ા K-x�'+r� :�'�� �
+
=*�0
 ��0�� ) �+r 2

-

2016
� .જ& � к�ા mજ8�ા'ા+ к�= ?
(B)   )��-��'
ા�

(A) к�;
(B) )��-��'
ા�
(C ) �-
ા)3
(D) )ા+��
)�

181 Maximum Masking for BC is done using formula (A)   BC threshold + 1A - 5 dB

(A) BC threshold + 1A - 5 dB

(B) BC threshold + 1A

(C ) BC threshold + 10 dB

(D) BC threshold + 10 dB

182 Frochels (1946) recommended slit in paper to read one word at a 

time to help

(B)  Clutterer

(A) Stutrer

(B) Clutterer

(C ) Breathy voice

(D) ADHD

183 Think before you speak and look before you leap. (Change the 

voice)

(A) You are requested that think before you speak and look before you 

leap.

(B) We request you to think before you speak and look before you 

leap.

(C ) You are requested to think before you should speak and should 

look before you leap.

(D) You are requested to think before you speak and look before you 

leap.

184 Xк �+x�ા'ા+ 13 .'��= 9 &#0 aા)�X 5
� �� જ �+x�ા'ા+�� 12 *ા
 

к�= 5 &#0 aા)�X �� '	�ા જ&ા*�
� 6- �>� 5:4 �ા� ;� . �� 
�+x�ા ш���.

(C )  32

(A) 45

(B) 24

(C ) 32

(D) 52

185 ���� �ા�ા ш�
�K �� 'ા�0 Xк ш�
 ш���
� �х�� 5
�к જ"'� 
M-��

(C )  જ"'�જ"'

(A) 
�0к જ"'�
(B) �ા�જ"'
(C ) જ"'�જ"'
(D) 5
+�кા	

(D)  You are requested to think 

before you speak and look 

before you leap.
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186 Speech of person having cleft palate is impaired mainly because of (B)   Palatopharyangeal 

insufficiency

(A) Hearing loss associated due to cleft

(B) Palatopharyangeal insufficiency

(C ) Broad Maxillary arch

(D) Irrgular vocal fold movement

187 In stammering following technique can be used (D)   all of the above

(A) Prolongation

(B) finger thumb analogy

(C ) modified air flow technique

(D) all of the above

188 �&�-���r
ા к�Y B*�[-  �)	 Xк' �&�-�aા�
=V h%����g!
� �� 
B*�[-X ,-+ к�0 ;� ?

(C )  �&�-�h%���'ા


(A) �&�-�4&ા�
(B) �&�-��ા&�
(C ) �&�-�h%���'ા

(D) �&�-�O-+*к=� 4�� 

189 The bridge being constructed on the Nyle, is the longest bridge of 

the world. (Use ‘Adjective clause’)

(A) The bridge is being constructed on Nyle is the longest bridge of the 

world.

(B) The bridge that was being constructed on Nyle is the longest 

bridge of the world.

(C ) The bridge what is being constructed on Nyle is the longest bridge 

of the world.

(D) The bridge which is being constructed on the Nyle is the longest 

bridge of the world.

190 �7/ nop R�ા} ���0� �. 1200 G-+ 10% ��х� ��0�ા 5
� *�g &?!
ા 
R�ાજ
� �<ા&� �. ............... �ા�.

(C )  12

(A) 120

(B) 8

(C ) 12

(D) 132

191 The frequency of vibration of vocal fold is dependent on (C )   Mass and length

(A) Rigidity

(B) Only length

(C ) Mass and length

(D) Volume

192 Extended low frequency hearing aid amplification provide more 

frequency gain at

(A)   <200Hz

(A) <200Hz

(B) >5Hz

(C ) >8Hz

(D) None of the above

193 ‘5H ��� \#� ;�кા� \ �’ к�0&�
� �ા�� 5�! ш���
� �х�.

(A) 5Ba'ા
'ા+ х�ા* 
0хા& к�0.
(B) N;= �&#� ��� �� &�ા�0 
0хા& к�0.
(C ) �ા�-х�ા*
� к
= �&�ા� 
 к�0.
(D) к�F
� �)	 �ા�ા ��&ા
� #�	 к�0.

(B)  N;= �&#� ��� �� 
&�ા�0 
0хા& к�0.

(D)   The bridge which is being 

constructed on the Nyle is the 

longest bridge of the world.
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194 ABCD 'ા+ (A → Z = 1 → 26) 4'ા � જ��ા+ X = F, T = B, P = G ��� �� K 

= …………….

(D)   B

(A) F

(B) Y

(C ) N

(D) B

195 Give plural form of: 'sheep' (A)   sheep

(A) sheep

(B) ships

(C ) sheeps

(D) sheepses

196 Diplophonia is characteristic feature of ? (D)  Ventricular dysphonia

(A) Vocal nodule

(B) Vocal polyp

(C ) Contact ulcer

(D) Ventricular dysphonia

197 ABLB test can be used to detect recruitment in (A)  Unilateral hearing loss

(A) Unilateral hearing loss

(B) Bilateral hearing loss

(C ) Normal hearing

(D) All of the above

198 150 x (-90) x (-17) x 0 x (-10) = ……………….. (B)  0

(A) 10590

(B) 0

(C ) -90170

(D) -10590

199 
���
ા'ા+�� '+
ા7ા"�ા ;+
G-+ *+�ા�  - M �r кA-+ ;� ? (B)  ' a 
 � � )ા )ા
(A) � ' 
 � a � )ા
(B) ' a 
 � � )ા )ા
(C ) જ � જ � � � )ા
(D) ' � જ � � � )ા

200 “�
'!	 6-જ�ા� ��જ
ા” 5"&�� кF *ા*�
� �'ા&�ш ��� 
�� ? (C )  %& ��ા����
� ��
ા

(A) �0к#! &)�к� 
(B) �08� ��к5�
(C ) %& ��ા����
� ��
ા
(D) #�� �- #�� к��]ш
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